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{ Principlé’s of Management )
~ Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer Question Nos. 1, 2, 3 and any four
from the rest

1,2, 3 7R 2B ST 9 2RCARE o1 R (i SIfGr Ted B

Answer either in English or in Assamese

k|
; 1. Choose the correct answer from the following
questions : - 1x10=10
Fae erpiRy [T ws Seadh! Al Sfere

(a) Henry Fayol’s contribution to the
; science of management is regarded as
e JfesAe @R FEER v Fare
CRTCDT a9 e Wiv® 2
() General Administrative Theory '
S PR G e
(i) Scientific Managment Theory
(I SIfRoEE o
(i) Human Relation Theory
RICE R R
{iv}] Behavioural Theory
SR o o e |
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(3)
(2 |
(e) An organizational structure that groups i
(b) Who suggested equitable division of similar occupational specialities |
work and responsibility between together is known as
| management and labour? R ool sffcy sipr gfers afEpEs
| Q@I AR W RenE Wee vy e G A, O WS (@Rl T &l
< SRTEEA P mﬁfiﬁ ? 2 '
(i) Henry Fayol / FEATE ot
(i) F. W. Taylor / @%. O, (32 . simgle SRR
; (i) P. F. Drucker / Pl @%. GRR e A
\ (iv) G. E. Mayo /f%( 3, @’ (ii) diViSiOIZ‘l’al structure
‘ (c) Plans which establish overall objectives GRRERIG
| and position of an organization in terms (iii) project structure
’ of its environment is know;lﬁi; oy s
| & 7z ~fResmid sTe Sy 2few T e : :
! S S e e
O TS G FICHC &1l % 2 !
(i) specific plan / fif@ “fRzs () Organization that denies teamwork is
(ii) short-term plan / ZFWM “IRFe known as
(iij) tactical plan / Rv%9 “Rg fi SR e TR SRR WA, (O
(IU) .strategic plan / CW W;ﬁ SRW ﬁzm-@ @m I Gl IR 2 I
(d) Management by results is also known ; A AR
‘ o (i) matrix organization
% Pratet ARV TS A S T 2 e wicoro
(i) MBO (Management by Objective) (ij) project organization
Trapnt AR SR SRas
(fi) Management by Exception (iii) virtual organization
U R
(i) Management of Change
sfqasaa oifRsE (iv) learning organization
(iv) Nene of the above T HIRIT R
; @i Beufe «brs T - A16/683 ( Turn Over )
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" (g) Z-theory is propounded by
7-9g (I Sorgle IR 2

()

Al16/683

(i) Ouchi / S'CH

(i) Maslow / 657

(iii) McGregor / (VAN

(iv) Herzberg / 2&qlsf

In Herzberg’s two-factor theory, which

one of the following factors is not
included in hygiene factors?

FEfqea fB-Somm O wEe fr @ <O
o TR Sem w2 ?

(i) Supervision / CEikcdl

(i) Working condition / F¥& “(f¥ca
(ifi) Salary and wages / T A TG
(iv) Recognition / ?@Tﬁ'ﬁ

Which one of the following techniques is
not a modern technique of controlling?

wae i @ b1 (et R S e
CEN
(i) Financial statements
a8 [R3f®
(i) Return on investment
RffcaeR eoms gerfd

{ Continued )

()

2. Write short answers on the following :

(5)

f

(i) PERT (Programme Evaluation and
Review Technique)

IRGN EORE WE AT R A
Lot Neau

(iv) CPM :
&focat Ny smfe

A plan of expected result expressed in
numerical terms is known as

HFIFFS S W& A 4TS 9 ARTHAD
FRRIFSE TP FEE WS QI |

(i) project / =FH
(i) policy / s
(i) budget / S
(iv) strategy / (FPERS GICEED

(a)

(b)

()

'Al6/683

What is the meaning of policy?
FRAST 5y [ 2

What do ydu mean by programmed
decision?

o{-offere Prarg wie & e 2
What is budgetary control technique?
eS0T fgE FrE 2
( Turn Over )
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(6)

(d) Define management of change.
o[fRqéa AR el i |

(e) List out at least two areas where
managerial control is considered
necessary.

o P SEEE I o FReeEe Pl
] THY 390 |

Answer any five of the following questions :

4x5=20
oo 2R R et offobE Ted Al -
(a) Write in brief the Human Relation
~ Theory.

Twa SToE ©gd B A

(b) State the limitations of scientific
management.

e AREEMR Saaeryz G 9 |

(c) What are the causes of conflict between
line and staff organizations?

Re e TR RIS TeR e
TR IR & 2

(d) State the barriers to effective delegation.
peep] WY Se{TS PR SCEAmvAT 91 |

(e) Write explanatory notes on carrot-and-
stick approach.

o W R L e BT s |

( Continued ) -

4.

By

¥

{ 7]

() Explain the limitations of ratio analysis.

WS Resmes Mo 0 4 |

(7)) Explain the stages of planned change.
s «fRET AfeT R A 0

Explain Elton Mayo’s Human Relation
Theory. 10
BN (TH'T TG o1 ©Geo! 11 91

Or / J311

Describe the contribution of Peter F. Drucker

to the development of management thought. 10
A Oge CrElel PHR «%. TR W A
41

What do you mean by decision-making?
Explain various steps involved in decision-
making. 4+6=10
Pram a2 Ifer B qE? Pram azde Risw @
AT <[40

Or / =[7

Discuss the planning process of a large
manufacturing organization. Also state the
limitation of planning. 10
a1 g5R TeAWAFSY FRAG ARTEA ARG A
4] | TS ARFEAE RS S F4 |

What do you understand by formal and

informal organizations? Distinguish between
the two. , 4+6=10

mmwmmﬂamﬁmﬁw?

q TG AT s 90 |
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(8]

Or / 92T

What do you mean by span of management?
Explain in this connection the factors that
determine an ideal span of control. 10

AReEMR TR e B g @3 e @
el T @Ay 9 Sameewm REw e
4 :

=
=

7. Explain the steps of needs in A. H. Maslow’s
need hierarchy theory of motivation. Also
enumerate the merits and limitations of the
theory. - 6+4=10
Q. dFF. MEH'T RAMESTIN AEANOR G
TEE AEGATOR IR WA F9 | FAS GGHR
Sf-epife TeEy 90 |

Or / 541
Describe various barriers of communica-

tion. What measures would you suggest to
overcome such barrier? 10

el e R afSamgorar o 91 9
RO YS! PO e & R SRR 2

8. Describe the causes of resistance to change.
Explain the measures to overcome this

resistance. 6+4=1
iTEe oifS afSqgieel g FRAIR 960 F91 1 @
i eThpel “[AIPSTIIT IRERA! WL 4 |
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